O A

)

z
) : \ z | Ko 8
)+ @] J— =
WB800*122 1 % ‘ B _ ‘ E 50, | |50 TP20T ‘ DG
o > TP205 8] TEMPLATE w
CTP206 5 70 1L 70 _TEMPLATE o ] Tt = 5
TEMPLATE o UB530'82 140 64 180 o B 5 1p0 140
~TEMPLATE / 220 110 220 3 R (UBS30'82) 5 . FS g \ UB360°51 =1 T, g
=
9 x 3 [¢) iy PRIME TOP OF CONCRETE ¥
8 PRIME TOP OF CONCRETE 3 110 o - \?,T+“AENT$RPO%'E,§8NP%$OEFI Eo & N o 8 =iE= WITH NITROBOND PRIOR TO o \ 3
WITH NITROBOND PRIOR TO x - PLACING GROUT N ] PLACING GROUT. \ =
g PLACING GROUT. © N i ’ Q g
P : 2T 00 - Al - --
g g AT S — g 10950GRD e — O 10950GRD .
=! oS - 3 t = z
- o i & 8 — g
I =
N il ) OPTIONAL POLYSTYRENE VOID FORMER w| & | CAB202) SE&'&'}Q'@E%&' %Ygggﬁ}’lﬁg FORMER 2
OPTIONAL POLYSTYRENE VOID FORMER ol 2 - REMOVE PRIOR TO GROUTING v BASEPLATE & FILL VOID WITH 40Mpa Q
. ) REMOVE PRIOR TO GROUTING S| \ AB201 BASEPLATE & FILL VOID WITH 40Mpa \ s \ FLOWABLE NON-SHRINK GROUT. 2
Bl BASEPLATE & FILL VOID WITH 40Mpa @ FLOWABLE NON-SHRINK GROUT. z
AB200) FLOWABLE NON-SHRINK GROUT. z \ |
\ AB201
B 8 x M24 HD BOLTS ‘ C 4 x M24 HD BOLTS
8 x M24 HD BOLTS \ 4.6S GALVANISED 4.65 GALVANISED
A 4.65 GALVANISED
AB200 DETAIL A-A AB201 DETAIL B-B AB202 DETAIL c-C
F
- — 5 -
3 TP200 | E
_ Q _TEMPLATE ~
7TP20L ‘ 5 ) \ 150 150 = |
- CFeifre 2 ‘ A :
o) PRIME TOP OF CONCRETE =N a Ll eor T
= z
100 100 o [®] TP204
PRIME TOP OF CONCRETE 3l a 150 1,150 WITH NTROBOND PRIOR TO £ \e 0 O \_TEMPLATE _/ 250 | 250 - 2
100 ‘ 100 WITH NITROBOND PRIOR TO x \< - : N (I y - 5
| PLACING GROUT. o & | e g N E 5\ - 4
(UB360°51) <) ! = PRIME TOP OF CONCRETE o] *74 o
UBSB0'SL) | < ° | (10950GRD S ] WITH NITROBOND PRIOR TO g °J/7/ = g
° 10950GRD - 3 3 ° 3 \ 5 ° \ | PLACING GROUT. y
3 —+
| H\E ﬁ” ﬂ E ! ‘g m Q‘g <Or H“\\\/ LI T 8
RaR(| I u =il & Y OPTIONAL POLYSTYRENE VOID FORMER \ 0| 2 (10950GRD 4
o o0 OPTIONAL POLYSTYRENE VOID FORMER ol & 3 } REMOVE PRIOR TO GROUTING S|lm ©—
o ‘ REMOVE PRIOR TO GROUTING 50 AB204 BASEPLATE & FILL VOID WITH 40Mpa 2 =
| AB203 BASEPLATE & FILL VOID WITH 40Mpa 2 E \ g/ FLOWABLE NON-SHRINK GROUT. b= | z
P Q,A FLOWABLE NON-SHRINK GROUT. & | 160 160 AB205 ‘ R
a
‘ - ! \ AB204 ‘ £820° B
6 x M36 HD BOLTS a
4 x M24 HD BOLTS \ 4.6S GALVANISED z
4.6S GALVANISED E
4 x M24 HD BOLTS il Il Il
4.65 GALVANISED I
AB203 DETAIL D-D AB204 DETAIL E-E AB205 DETAIL F-F
PRIME TOP OF CONCRETE
WITH NITROBOND PRIOR TO N
E H & PLACING GROUT. > u J PRIME TOP OF CONCRETE
8 u o TP202 oy 115 WITH NITROBOND PRIOR TO
337 T3 E Qo = TEMPLATE /' g\ @) PLACING GROUT.
AB206 TEMPLATE | | Q 115 E W i g0 i
~IEMEL/ J\ E RHS250*1506.0 S 8 8 g E 8 % RHS250*150%*6.0 m %
| = | o Sl 4 ul| X ¢lg 5
2 4,120 & iKe}
“ B 2 PRIME TOP OF CONCRETE o P20 o & E § e @
WITH NITROBOND PRIOR TO ° 10 -5 _
" o PLACING GROUT. © 8 7y 9 10950GRD _ 8l o 8 K3%] = 10950GRD g
| o — 10 e ™ S i® ©
8| g B R = N £
le ol g o | 10950GRD = _ p ) ;
| s V/E éﬂ i ol S 5 O OPTIONAL POLYSTYRENE VOID FORMER —| 5
AB207 7 0 & REMOVE PRIOR TO GROUTING
\ ‘ OPTIONAL POLYSTYRENE VOID FORMER gl 3 S B - AB208 )  BASEPLATE & FILL VOID WITH 40Mpa -2
REMOVE PRIOR TO GROUTING S W @ FLOWABLE NON-SHRINK GROUT. ]
BASEPLATE & FILL VOID WITH 40Mpa &
”’I[ FLOWABLE NON-SHRINK GROUT. 3 2l L5, onnDELE OPTIONAL POLYSTYRENE VOID FORMER 3 x M20 HD BOLTS e e i
o - X M20 HD BOLT:
H RECESS  REMOVE PRIOR TO GROUTING 2.65 GALVANISED RECESS 3x MO D BOLTS
2 x M24 HD BOLTS BASEPLATE & FILL VOID WITH 40Mpa J
2,65 GALVANISED FLOWABLE NON-SHRINK GROUT.
AB206 AB206 DETAIL G-G AB207 DETAIL H-H AB208 DETAIL J-J
2-M16 GALV CHEMICAL ANCHORS
90 100 FIXED WITH HILTI HIT-RE500 ADHESIVE I ] 2-M16 GALV CHEMICAL ANCHORS
125 EMBEDMENT. - FIXED WITH HILTI HIT-RE500 ADHESIVE |
(RHS150°1005.0 N | lt 5 RHS150100°5.0 125 EMBEDMENT. -
WP200) PRIME TOP OF CONCRETE < | ‘ ! o 2 | 0P OF CONG
- =< 0 WITH NITROBOND PRIOR TO = ! PRIME TOP OF CONCRETE
~ PLACING GROUT. WR200 © % T [ — WITH NITROBOND PRIOR TO
| & 0 ‘ | PLACING GROUT.
e, o
] — m 9
. 10950GRD )~ \ } o 10950GRD | - < -
K K FIXED WITH HILTIHIT RES0D ADHESIVE = o/ | |10 4 216 GALY CHEMICAL ANCHORS
- FIXED WITH HILTI HIT-RE500 ADHESIVE
. i % 100 125 EMBEDMENT. 125 EMBEDMENT.
[REFER HD200: DETAIL MAY BE ORIENTATED 180° | 0 100
[REFER HD200: DETAIL MAY BE ORIENTATED 180° |
WP200 DETAIL K-K DETAIL L L-L
ERECTION NOTES Project Description Job No.
Ao To 6 L TEl Wi ASSEMBLT YARK AT THS LOCATION Clayton Andrews EEROAD - BUILDING 2 HD BOLT DETAILS 1 WC_0074

2. ORIENTATE COLUMNS AS PER DIRECTION STAMPED AT BASE OF SHAFT.

MARKS UPDATED

22.01.2015

CA

3. FIN PLATES FOR BEAMS WILL BE ON THE NORTH OR WEST SIDE OF BEAM
WEB UNO. IE ERECT BEAMS TO SOUTHOR EAST SIDE OF FIN PLATES.

o

ISSUED FOR FABRICATION

29.11.2014

CA

4. FINPLATES FOR CHANNELS ARE ON THE INSIDE FACE OF WES UN.O.
5. ALL DAMAGED OR BARE STEEL AREAS TO BE REPAIRED TO THE

>

ISSUED FOR APPROVAL

25.11.2014

CA

APPROPRIATE SURFACE TREATMENT AND PAINT SPECIFICATION.

Revision Details. Date

Drawn

6 ALL PURLINS T0 TOE UP ROOF LINE UNLESS NOTED * = TOE DOWN.

CONSULTANTS &

ABN 44 160 875 758

+61(0)468 585 215

GLENMORE ROAD, ROCKHAMPTON

Drawing No.

c.andrews@warlin.com.au
Client :

Drawn:

cPa | ekl cpp DA 55 4y pop4 | SCAE

1:100

HD201

Rev

1




